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Cells : 1142 135(8114 75
Points : 912,308 (#1927)

Eile Edit View Sources Filters Tools Macros Help

pdBRwaF? @EAnpy

B8

U & 5[ @ solidcolor [-] [ [~| [wireframe

VOCPRBIOQELO®

Pipeline Browser

1
[ builtin:

[ singleDetachedHouseTry1.OpenFOAM

Object Inspector
Properties | Display | Information l
— Properties
Filename: singleDetachedHouseTry1.0penFOAM [l
Path: /home/fumi/OpenFOAM/fumi-1.7 x/run/myrun/single
— Statistics
Type: Multi-block Dataset
Mumber of Cells: 1142135
Number of Points: 912308
Memory: 1.2e+02 MB
—Data Arrays
Current data time step: 0
|Name IData Type IData Ranges
< p float [0, 0]
2 U float [0,0], [-11.9625, 0], [0, O]
@ p float [0, 01 L4
@ U float [0, 0], [-11.9625, 0], [0, O]
— Bounds
X range: -0.9 to 0.9 (delta: 1.8) @
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1. make clean

2. make mesh

3. make init

4. PotentialFoam=E1T

5.

5.A) make fgrun @s7s3521)
make bgrun ¢swsrsmvr)

5.B.1) make de
5.B.2) make pfgrun @s7ss2r)
make pbgrun ¢svsrss0k)
5.B.3) make re
6. make plot



EI T myAllrun3

#!/bin/sh
# <myAllrun3>

CORE=4 #e.g.1,4,6,12,...
RUN=1 # 1:Foreground, 2:Background

echo "---------mmmmmmoe oo
echo" SingleDetachedHouse"

eChO n_ n

echo "CORE: S{CORE}"

echo "RUN : S{RUN} (1:Foreground, 2:Background)"

echo ">"

echo "** PRE START"

echo "™ make clean"; make clean
echo "™ make mesh" ; make mesh
echo "* make init" ; make init
echo "** PRE END"

eChO II>I|



potentialFoam
sed -i 's/¥(nNonOrthogonalCorrectors¥).*;/¥1 10;/g' system/fvSolution

runApplication potentialFoam -writep
sed -i 's/¥(nNonOrthogonalCorrectors¥).*;/¥1 0;/g' system/fvSolutio

echo "** CALC START" M= j]
if [ S{CORE} = 1 ];then | =PI
echo "*** Single core"
if [ S{RUN} =1 ];then
echo " make fgrun: Foreground"; make fgrun
else
echo
fi
else
echo "*** Multiple cores: S{CORE}"
if [ S{RUN} =1 ]:then

LLE 3

make bgrun: Background"; make bgrun

echo "™ make de" ; make de
echo "™ make pfgrun" ; make pfgrun
echo "™ make re" ; make re

else
echo "™ make de" ; make de

echo "* Please run <make re> after the background job"
echo " make pbgrun" ; make pbgrun
fi
fi
echo "** CALC END"



system/fvSolution7 74 JL DHESE

Hommmmm oo potentialFoam ------------------ooooeoeoo-

sed -i 's/¥(nNonOrthogonalCorrectors¥).*;/¥1 10;/g' system/fvSolution
runApplication potentialFoam -writep

sed -i 's/¥(nNonOrthogonalCorrectors¥).*;/¥1 0;/g' system/fvSolutio



seddVVRDIEE

sed -i 's/¥(nNonOrthogonalCorrectors¥).*;/¥1 10;/g'
system/fvSolution

e diff RITRIZ7MI)L EITR 771
63c63MLLERLY),
< nNonOrthogonalCorrectors O; Bl

> nNonOrthogonalCorrectors 10; £



sed VY VRDEH
system/FvSolution 771JL

(sedZE{T&=potentialFoamZ4T7ai)

2SQ fumi@fumi-desktop: ~/OpenFOAM/fumi-1.7.x/run/tutorials/incompressible/simpleFoam/motorBikeRun5sed/system

Z71I(F) B|EE) ¥RV WET) ~ILFH)

solver smoothSolver;
smoother GaussSeidel;
tolerance 1e-8;
relTol 0.1;
} nSweeps 1;
} r
?IMPLE
nNonOrthogonalCorrectors 10;
}
relaxationFactors
{ N
p 0.3;
U 0.7;
k 0.7;
omega 0.7;
}




potentialFoam=21T9 5T —FK4E

2 @ @ log.potentialFoam ("/myrun~®@') ¥ /singleDetachedHouse/singleDetachedHouse2potentialFoamTest1) - gedit

Z7MIF) \WEE) FTTNV) BRGS) V=T FFaAZKD) ~ILTFH)

log.potentialFoam 3§

} o 'y
Reading field p
Reading field U

Calculating potential flow

--> FOAM FATAL IO ERROR:

keyword laplacian(1,p) is undefined in dictionary "/opt/OpenFOAM/fumi-1.7.x/run/myrun/
singleDetachedHouse/singleDetachedHouse2potentialFoamTest1/system/
fvSchemes: : laplacianSchemes”

file: /opt/OpenFOAM/fumi=1.7.x/run/myrun/singleDetachedHouse/
singleDetachedHouse2potentialFoamTest1/system/fvSchemes:: laplacianSchemes from line 43
to Line 49,

From function dictionary::lookupEntry(const word& bool, bool) const
in file db/dictionary/dictionary.C at Line 395,

FOAM exiting




laplacian(1,p)%&10 ({8 1E)

divSchemes system/fvSchemes7 741 )L«
{

default none;

div(phi,U) Gauss vanLeerV;

div(phi, k) Gauss vanlLeer;

div(phi, epsilon) Gauss vanLeer;

div(phi,R) Gauss vanlLeer;

div(R) Gauss linear;

div(phi, nuTilda) Gauss vanLeer;
div((nuEffxdev(grad(U).T()))) Gauss linear;
}

LlaplacianSchemes

default none;

laplacian(nuEff,U) Gauss linear corrected;
laplacian((1|A(U)), p) Gauss linear corrected;
laplacian(1, p) Gauss linear corrected;

Laplacian(DepsilonEff,epsilnn) Gauss lineér corrected;
laplacian(DREff,R) Gauss linear corrected;
laplacian(DnuTildaEff, nuTilda) Gauss linear corrected;

}

interpolationSchemes

DR
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Calculating potential flow
GAMG: Solving for p, Initial
GAMG: Solving for p, Initial
Iterations 2
GAMG: Solving
Iterations 6
GAMG: Solving
Iterations 1
GAMG: Solving
Iterations 0
GAMG: Solving
Iterations 0
GAMG: Solving
Iterations 0
GAMG: Solving
Iterations 0
GAMG: Solving
Iterations 0
GAMG: Solving
Iterations 0
GAMG: Solving
Iterations 0
continuity error =
Interpolated U error =
ExecutionTime = 17.58 s

residual
residual

for p, Initial residual

—

for p, Initial residual =

for p, Initial residual =

for p, Initial residual =

for p, Initial residual =

for p, Initial residual =

for p, Initial residual =

for p, Initial residual =

- =] =] =] =] =] =]

for p, Initial residual =

0.000625809

1.55992e-05
ClockTime = 17 s

End

potentialFoam. %

1
0.
0

S R RIN

, Final residual = 0.0083456, No Iterations 8
00939914, Final residual = 7.80584e-05, No
.000143049, Final residual = 1.08047e-06, No
.59672e-05, Final residual = 6.70594e-07, No
.91639e-07, Final residual = 7.91639e-07, No
.91639e-07, Final residual = 7.91639e-07, No
.91639e-07, Final residual = 7.91639e-07, No
.91639e-07, Final residual = 7.91639e-07, No
.91639e-07, Final residual = 7.91639e-07, No
.91639e-07, Final residual = 7.91639e-07, No
.91639e-07, Final residual = 7.91639e-07, No
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MyAllrun3M 21T

2 ® @ controlDict (*/myrun~®Y >4 /singleDetachedHouse/s

Qe e/
u 4 CO reS N 5% 'fj- Z71I(F) ®\E(E) F{TN) BR(ES) V=T EFazAkD) ~NTH)

controlDict 3

- J§1§ - %&‘15000 N application simpleFoam;

(SyStem/Contr()lDK:t) startFrom startTime; ;
startTime 0:
stopAt endTime;
endT ime 5000;
deltaT i
writeControl timeStep;

writelnterval 500;




SIMPLE ;EDIURFIE DK E
system/fvSolution 774 JL
SIMPLE
{
nNonOrthogonalCorrectors O;
convergence le-b;

)

 simpleFoam TlE.U & p DI RTDEENIEE
SN 7cfE (Te-5 or 0.00001) kW NEL7E DT B R
THRENMREINGTEMEILET S,



system/fvSolutionZ7714JL M

?71IL(F) BE(E) J|rN) BR(S) YT F

= myAllrun3 # fWSolution 3%

psi PBiCG

{
preconditioner DILU;
tolerance 1e-06;
relTol 0;
I
}
?IMPLE
nNonOrthogonalCorrectors 0;
convergence le-5;
}
relaxationFactors
{
p 0.3;
U 0.5;
k 0.5;
epsi lon 0.5;
R 0.5;
nuTi lda 9.9;




system/fvSolution7 74 JL DHESE

e FvSolution774 )LD HAICIE
NnNonOrthogonalCorrectors O

NEIEY %,
» {BL. lconvergence 1e-5; 13 FEY %, ZDFE
b\tjfd‘%@b\? t'f :le\b\M\KT%%)




PotentialFoam#£  3.485[]

DO ® logsimpleFoam (*/myrun~®Y>%/singleDetachedHouse/singleDetachedHouseMyAllrun2) - gedit

71 I(F) W\WE(E) F|TN) BRES) V—IAT) FFxaxkD) ~ILFTH)

log.simpleFoam 8

Time = 5000

DILUPBiCG: Solving for Ux, Initial residual
DILUPBiCG: Solving for Uy, Initial residual = 3.42957e-07, Final residual = 3.42957e¢-07, No Iterations 0
DILUPBiCG: Solving for Uz, Initial residual = 9.21495e-06, Final residual = 9.21495e-06, No Iterations 0
GAMG: Solving for p, Initial residual = 0.00140228, Final residual = 8.34004e-06, No Iterations 2

time step continuity errors : sum local = 1.33092e-06, global = 8.46353e-09, cumulative = 0.213431

DILUPBiCG: Solving for epsilon, Initial residual = 9.76029¢-06, Final residual = 9.76029¢-06, No Iterations 0
DILUPBiCG: Solving for k, Initial residual = 6.51391e-06, Final residual = 6.51391e-06, No Iterations 0
ExecutionTime = 11798.5 s ClockTime = 12241 s

2.77008e-05, Final residual = 1.34025e-06, No Iterations 1

End

Finalising parallel run

PotentialFoam®& 3.2

DO @ logsimpleFoam (*/myrun~®mY >~ %/singleDetachedHouse/singleDetachedHouse2potentialFoamTest1) - gedit

FPAIL(F) RE(E) T TN BRS) V=T FFaxirkD) ~ILT(H)

log.simpleFoam
Time = 5000 N

DILUPBiCG: Solving for Ux, Initial residual
DILUPBiCG: Solving for Uy, Initial residual = 3.48086e-07, Final residual = 3.48086e-07, No Iterations 0
DILUPBiCG: Solving for Uz, Initial residual = 8.59794e-06, Final residual = 8.59794e-06, No Iterations 0
GAMG: Solving for p, Initial residual = 0.00126332, Final residual = 8.02075e-06, No Iterations 2

time step continuity errors : sum local = 1.26232e-06, global = -1.18338e-08, cumulative = -8.22938e-05
DILUPBiCG: Solving for epsilon, Initial residual = 8.64947e-06, Final residual = 8.64947e-06, No Iterations 0
DILUPBiCG: Solving for k, Initial residual = 7.44353e-06, Final residual = 7.44353e-06, No Iterations 0
ExecutionTime = 11419.5 s ClockTime = 11582 s

2.72799e-05, Final residual = 1.28702e-06, No Iterations 1

End
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PotentialFoamZE1{T#: 3.40FE
PotentialFoamZ217H: 3.2BHE (1249%HE)

<ifh & >
B4 ICRA LT,
CDT—IATIE. HFYUNRIT AR Do T=,



END
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